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The price of sugar is increased by 20%. If the expen-
diture on sugar has to be kept the same as earlier,

the ratio between the reduction in consumption and
the original consumption is

=T % 99 H 20% i R}l w1 T 71 FfE =4 W fR
S o =99 Rl Yol fSiam & WA 81, 9 @9d § HHt
F1 J8cl i @Ud 9 Tqd BM—

(M 1:3 21:4 (@3)1:6 @ 1:5
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Q5. A dishonest shopkeeper makes a cheating of 22.5% at time of buying the goods
and 6.66% cheating at the time of selling the goods. He promise to sale it at
11.11% loss. Find the profit % ?

UF THA GFEGR @led FAT 22.5% # IR Iad F77 6.66% A T[GATN FIaT §| IF WHA
F 11.11% g1 9T a9 &7 @1 FIAT ¢ | A7 IUST A % AT HL ?

a)14.28% b)16.66% ¢)20% d)17.5%
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An article is sold at a profit of 33>%. If both the CP

and SP were Rs1500 less, the profit would have 62 %

more. Find the CP of the article?
fordll a&q A % oM W SA1 AT &l IS FI FAod

IR faradea a4 & 1500 FA grd dr & % 31fes

BIcT 81 a&d T T Hed BT
2)9000 b)10000 ¢)12000 d)7500




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A machine 1s sold at a profit of 18.18%. Had 1t sold
for Rs75 less there would have been a profit of
12.5%. Find the SP of machine

T #7MT 18.18% &y WX T ST & | Ifg 37 75
T HH H 99T ATAT § a 12.5% T o1 grar g1 JqMeT

&1 [AshaHeT dasT|
a) Rs 2500 b) Rs 1320 ¢) Rs 1560 d)NOT
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After selling 72 article a man losses SP of 12 article.
[f the CP of article 1s 980. Find the SP of article.

72 IEIAT H dUA W TH AT 12 FEIIN H
fAhaHed & ST g1 1o Xl g1 Il a&] HT 3
Hed 980 ¥ & dl 39l T Hod ATd SIS

a)720 b)1020 ¢)840 d)880
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The income of C is 20% more than B's and the in-
come of B is 25% more than As. Find by how much
per cent is C's income more than As ?

C i 3T B! 34 9 20% 3178 & 3 B &I 3 A
3 W 25% 3k 8 1| CHI 3™, AHl 379 9 fHad
gfasd 31fees § 2

(1) 150%  (2) 50% (3) 25%  (4) 35%
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Find the unit digit in the expression :

(1 STk h1 ShTs 37k BT

(IN"+ 2H% + B + e
(100!)100!
(@) 7 (b) 4

(c) 6 (d) 8
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3 men or 4 women can complete a piece of work in 5 days. In how many days
can 2 men and 3 women complete same piece of work?

3 goY 41 4 Aigd 5 fa4i T Ub 18 URTHR gobd 6 | 2 GY 3R 3 Afgdld fbad
(1 | JHHE B Bl HR Abd 572

a) 111 days
b) (17 days
C) 0/13 days

d) ..
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A chemist has 25 ml of a solution of acid and water that contains 20%
concentration of acid. What amount of pure acid (in millilitres) is to be added to
the solution, to increase the concentration of 75%?7

U Y & Ui 25 ! 31T 3R Ul &1 [daa- g foraH 20% 3 5 1 75% DI
qigdl Bl dgH o (U, g 3% ([Hcliclicx o) i {oa AEn o [daa- o foamr
ST dTieu?

a)
b)
c)
d)
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The marked price of an article is Rs 1,000 After two successive discounts, it is
sold for Rs 600, If the first discount is X% and the second discount is 25%, then

what is the value of x?
Uh a¥] @1 Sifbd Jed 1,000 ¥Y @, &l ShANIA el b dla, 59 600 U4 H o]
SITT &, e Ugdl B¢ x% © 3R QORI B¢ 25% g, Al x BT A H1 82

12%

25%

185

20%
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A man, rowing a boat, covers a distance of 21 km in 7 hours downstream. He
covers (1/3)rd distance in same amount of time when rowing upstream.
Calculate the speed of the stream.

U Al 19 9dld gU, YR & 3dhd 7 °c H 21 fhdl df g1 79 ®dl g1 98 YR
& Ufddd 19 Iard §U &l @ (1/3)d HFT DI FHH JH H a9 7= = <™ @ 1fd

!l T DI a) cm/h
b) kmn
C) km/h

d) km/h
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Suresh travels to office at a speed of 30 km/hr and on his way back, he travels
at a speed of 45 km/hr. Find the average speed of the whole journey?

RN DA DI 3R 30 fhdider & ard I I ddl & 3R d19d Siid 9y 98 45
[opHi/eieT I are I AT Bl g | UL AT Bl S dTd JTd HIfor?

b) e
C) fpelissier

d) 3 fpal et
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A can do work in 4 days and B can do the same work in 5 days. The contract for
the work is Rs. 9000. What will be the share of B if they will work together?

A4 el § th &1 H IHdi g 3R B 34t &1 &1 5 feAi § 2 gbdl o | H1H Pl
3¢ 9000 ¥UZ g | Ul d (eI D HAl i B DI g¥d1 &1 g™

a)
b) oo
c) oo

d) o




